PT-31
v,

Technical Data HASHK

Current FiEHR

Duty Cycle &##

Gas SfF

Gas Pressure S/E
GasFlow Sifi&

Ignition 5|35

Post Flow S{RFERT
Standard Length #RfE 4R

C € Eneoora7

30Amp

60%

AR =5

4.5-5.0 Bar

150LPM

HF &7

40sec. recommended #7407
5M

WITH HIGH FREQUENCY

8
/

11

="
=1 9%

v,

C € Eneoora7

I I

IVT6650-100

IVT6250

PLASMA TORCH/PT31/5M M16*1.5/INNO;% & F 1 £I46/ PT31/53K/ M16*1.5/INNO

PLASMA TORCH/PT31/5M M16*1.5; % B F 1246/ PT31/5%/ M16*1.5

1
2
3.1
3.2
3.3

© o N o O

1

12
13

14

IVS0071 Outside nozzle PT-31;5M5HE PT-31

IVU0086-10 Extend Tip PT-31;B8 #REHE PT-31

IVU0056-10 TIP/D.1,0 P31/LONG;H/D.1,0 P3L/MM YRk
IVU0056-11 TIP/D.1,1 P31/LONG;RH/D.1,1 P3L/MN YRk
1VU0056-14 TIP/D.1,4 P31/LONG;H%/D.1,4 P31/ R/ L A

IVF0078 Diffuser PT-31;4 %% PT-31

IVF0079 DIFFUSER/P31/LONG; 4igs/P3L/mmcH!

1VB0087 Electrode PT31;84% PT31

IVB0094 ELECTRODE/P31/LONG; B AR/P3L/AN KL/ Mk

1VZ0032 Plasma torch head PT31:Z & F4t kHT31

1HJ0724 Trigger; FF %

1GV0025 Plasma handle PT31:% % F Ff[ET31

1HJ0860 Small joint TIG 9-17-20;/h Bk $5[XIG 9-17-20

IHJ0868 Big spring support for TIG 18-26; K3 & % ##[1G18-26
IVNO0504055-00 CABLE ASSEMBELY/P31/4AMMQ/5M M16*1,5;E8 4§48/P31/4AMMQ/5M M16*1,5
IHQO757 Conntector 2 holes;# 5 fi 1

[HJ0029 Protection nut CH19;Brfl B {R$F & CH19



